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 �� ����"� #� ��� ��� �� �� �� �� �$� � �%
&�'� (������� � )�� ��� �� �� ����

*�� �+� #�	, -�"�. / � ���+� �� ��� �� !�� �� ����� 0� ���� � � �� �1� ����� �� ��� ��� 2�� �1�

�� �� ��� �� �� ��� �3 0� � 45 ��� ��"� � � �� �� �$� / � �� �� �� �/6 �� �� 07� !���� 0� �� �

��8�5 � �18 �� �� ��"9� ���� ���� (��: *�� �� ��� �� �� �� ��� �� � �;<� =�"� ����"�

����� �� �� ��� �3 0� �� � !��� � � �<� �� >�;<��?� ���� ���� (��: � ����� �� �"�� �� ���

�� �� �� ��� �3 @A8� #"5/ �� ���� ����� �� � � ���� � �"��� ���� ���� � ���� (��: / � �

� � ��� �1� �: �"� ��� B"� � ��8�5 � �18 �� �� �%�%C !���� � � �����
 !�9C �� ��

*����� �� �1+�<3 � �� 45 ��� ��+��
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 ��� ��� + �
��� �� ��=��� N � M ��


HomR(M,N) ��1� � � �� �� � �� ��=��� � �����5 ������� � / �

*���� �� �� ����$� R ����5
0+;��� � 0+;� ���=��� � � =���� 2=�;���� ��� �� HomR(M,N)

/ � �� ��� �� ����/ �� �� ��� �3 0� �� �
�� �� ��1�� � � !�� !��� �+"?� HomR(M,N)

�� � �"����+� � 
 �"��� ��9	� *����� ��� ?�
�� � �� 0+��"� *����� !��� ��< � ��< � ���
� �� � ��+� �$� � + � ���� 3
 �1$� �+� �$� � + � �� � �
!�� �� �� ��9	� / � !��	�� � �� HomR(M,N)

/ � 0+;��� � 0+;� =��� � 20$��;+: =�;���� 2�"����+�

� =��� � ���� � � �� � 	� ��� �� !��� #�� �� ���: �� ��� *����� ���� � ���?": B� � �/ � ��� � �

�� =���� ���� ����� ���#+?�� / � �;� � !�� @��� �� �� �� HomR(M,N)
� � 0$��;+: =�;����

=�"+$� �� �����+� =��� � ��:� !� 6�� � ����� ��+� #� ��+�����3 ��?��� � �+���� � ��?��� ���=���

*����� ����� ���5 B� / � ��� �� �����
20+ ; ��� =��� � 20+ ; � =��� � 20$ �� ; + : =�; ���� 2=��� � 2�� � ��+ � 2�� � � ���" � & ����� �


HomR(M,N) ���� �� ����/

Schneider  
Kasch!
Beidar"
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� �� �� >A �� 0� ���� #� � �� �"� ��C ��� �� � � ��3#��� R ���5 �� �� ��� �3 0� ��� ��� � �

#"� / � ����7�� "� =���−R � ���$� =�;� �
 ���=��� 2R ���5 ��� ��=��� �"� *���

�����"� / � 2���$� �
 ���=���−R N � M ���� ��/ �� �� ��� �3 � � ��� � � *���� �� � � � #� ��

*�+���� !��	�� �EM = EndR(M) � [M,N ] = HomR(M,N)

=��� �?
 ��� ���� / �+� ���� �+
� � ��� �?� � �� ��� 2=� � 4�� � � #� � 4�� � �9
 4��� �� �� ��� �3 0� �

� �� 0+
� � �� HomR(M,N)
� � ���� ������+�
 �� �� �� ��� �3 ���� � �5�1� *�� �!�� @��� ��?�

∇[M,N ] � 4[M,N ] 2Tot[M,N ] 2J [M,N ] ���� � �� �� ��/ � �9
 � �� @��� �� �� �� � )� 	���

*���� �� 4+;<� !�� @��� 	 ��$�;+� 	��� ��

2� �� �� � �/ � �9
 0� �/ � �;� *����� ��� HomR(M,N)
/ � �� ��� �� ��� �/ ��� � � �� � 4�� � �

2� �� ��� � 2)�
 ��+�� �� � �� @��� )� 	��� ��
� =�� � � ���� � �� #� � ���9	� 2(Total) =����

0+��"� *#� � ���� 
 � �� � �?
 ��� ���� �+�� ����� *** � �� �
�/ 2�% ��� � �"
/ 2� #���� 2� �� �� 2� �
 +�
=�� � �� �� �� � )� 	��� 2=��� � ��": / �HomR(M,N)

/ � ���� �� �� � �/ � �������� 0+� ��� ��

0� � ��� �� @��� �� �1
 �: -6��� / � �;� =���� �?
 ��� � � *#� � !�� ��+� ���� �:�� � � ����

��9	� =��� 0� � �� ���3 � ���� �� �� ��� �� � � �� � 0$��;+: =�;���� �� =��� � �� ��/ �
 �� #� �

=��� 0� � �� 4�� 0� � ��� )7� � � � !�� ��+� ����� � ��� ��� � HomR(M,N)
� � ���� �����+�

*����� !��� ���3 �+�� B� �
 �� � �
�� ���� �:�� � � ���� =�� � � �� � ��$�;+� 	��� �� HomR(M,N)

� � ���� ���� � �����+�

*����� 4+;<� �� �� �� ��� �3 0� � / � ��� 4�� 2#� � !�� ����� 4�	� ���
)� 	��� ���� =�� � �� �� 0+
� � �� �+����� 3 ��?��� � �+��� � � ��?��� ���=��� �� �9
 4�� � �

@��� �9�� ����� �� ��� / � � �� � !�� ���?� ���$� =���� ��� � �1� ��� #+?�� � ���� @���
Mader�

Nicholson�
Wiegandt�

Zelmanowitz�
Zollner�



���� �HomR(M,N)
� � ���� �����+� � ���� ���� � � ��5�1� �� !� ��� �� � 4�� *�����

*#� � ��� ��

=�� � � B� =�; �� + , �� � 5 � � ���� � #� � � ��� �:� � � � �� �� ; �� � �� �� � ���� =�� � �

��< � ���� �:� � � � � �� �� � )� 0+ �� " � *�� �� �� � �� � � � � � =�" + $ � �� �� � � ��� �� �
#� �Reg[M,N ] ��� �� �� � �� �� � � � �� � � =���� � � �/ 0�� � 
�% � ��� �� [M,N ]

�� �����

�� �� [M,N ] = Reg[M,N ] � 
 � �9 ��� �� � �� �3 *#� �Reg[M,N ] ∩ Tot[M,N ] = � ��

� 
 � �� #� � 0� � �� � �� @� � � �� �
 �� � *#� �� �� �� � [M,N ] = Reg[M,N ] ⊕ Tot[M,N ]

[M,N ] = Reg[M,N ] ⊕ Tot[M,N ]
�� #� �� ��3��;� � 0� ���� �� �� � 6= [M,N ] 6= Reg[M,N ]

*����� !��� ���3 =��� 0� � �� =��� B� �� 4�� 0� �� � � ����

=�"+$� �� �����+� ����� � =��� � B� =�;�� +, ���5 � � ����� #��� ��� 3 4�� �  � )7� � �

�� � ��+ � =���� �� �/ 0�� � 
�% � ��� �� [M,N ]
��� #$+ � �� �?� /� � � �
� *�� �� �� � �� ��� � �

��+ �� #� � ��� �� ����� =�"+$� ��

*#� � ��
� � ���� �: ��� / � ����
 �� �� �� ��� �3 0� � �
 ��� ��<+�

Brown�
McCoy  �



�-�3 G:; ���A�

�� 	"#
 � �"� �$� �

�� . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ��� �?� �*�

��
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

�� ��� �*�

�� HomR(M,N)
% � �+ ��� �'� ���+% �

�� . . . . . . . . . . . . . . . . . . . . . . . . [M,N ]
� � 0$��;+: =�;���� �*�

��
. . . . . . . . . . . . . . . . . . . . . . . . . . [M,N ]

� � ���� �����+� �*�

��
. . . . . . . . . . . . . . . . . . . . . . . . . . . [M,N ]

� � =���� ��9	� �*�

��
. . . . . . . . . . . . . . . . . J [M,N ]

�� Tot[M,N ] ���� �� �*�*�






��
[M,N ] � � ���
 ��)� ��"�� �

��
. . . . . . . . . . . . �+��$� �+�����3−N� �+��$� �+���� �−M ��� =��� �*�

�

. . . . . . . . . . . . . . . . . . . . . . . . . . . ���� ��+�
 ���� ��7�� �*�

�

. . . . . . . . . . . . . . . . . . . . .

���?": B� ��/ � ��� � � !�� �� �� �*�

��
. . . . . . . . . . . . . . [M,N ]

� � ���� �����+� � ���� �����+� ���� �� �*�

�� ����� ���
 ���)� !"(�
 �+ �

��
. . . . . . . . . . . . . . . . . �+�����3 ��?��� � �+���� � ��?��� ���=��� �*�


� ���
 ��)� ��"�� � � �	
 �,� �


�
. . . . . . . . . . . . . . . . . . . [M,N ]

/ � ���� =���� ����/ 0���
�%� �*�

�� . . . . . . . . . . . . . . . . . . . .
���5 B� / � =�"+$� �� �����+� =��� � �*�
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� ���

/=�, � 8=. -B;

/ � *�+�� �� @��� 2���+
�� � ��� !��	�� � ���� ��?� =��� � � �� �� �� �� ��� � ��� �?� 4�� 0� �� �

*�+���� ��:� � �� ���� ����� � !��� ���>�8 ����� ���3 � !��� ��� ��� %: ��
�� ��� ��<+� -�1� �

��� �R; �	 �


� � 
� � �� �� � �� �� � ��� �� � � � M � � �  ! " #
R $ % & ' () * �2�2�+�,-.

)/�01� 2)3 � 4�� �� 5#)6� +(x, y) = x+ y 78�9 �� x, y ∈M ): ��)� �' + : M ×M →M

8 4 �8 4�� �� 5#)6� .(r, x) = r.x = rx 78�9 �� r ∈ R � x ∈ M ): ��)� �' . : R ×M → M

;�<): �$%��� �� => ?���−R �8 @�� 2)3 � 
�� 
�� �� ;�)�: M A$#)%< �� )B�
����� � �C �:�)< (M,+) DE

�r(x+ y) = rx+ ry �r 
F� R G� �H� ): � x, y 
F� M G� �H� �4 ): ��G� �� DI
�(r + s)x = rx+ sx �r � s 
F� R G� �H� �4 ): � x 
F� M �H� ): ��G� �� DJ

�(rs)x = r(sx) �r � s 
F� R �H� �4 ): � x 
F� M �H� ): ��G� �� DK
��
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A�x = x �x 
F� M �H� ): ��G� �� D�

��� : ���� � � � HomR(M,N) � �& �� � ?���−R �4 N� M $% & ' () * �2�2�+�,-.
�8 Hom(M,M) A�1� � �C ;�)< "# 
���� 
�� ��� �' ���� N �� MG� �: ���#8 $: ?���−R

A$%:4�� �#��� EndR(M) 4����� � $%��� M ��: ���#8��84−R ��� !

��
c ∈ R )<� $% #�< D�1�8� => )#�� ��06� �8 R 8��0 # ��� ! 84 a )� &� �2�2�+�,-.

=> ��0 6 � �Db� c )� & � ADab = �R

�
ca = �R

�' �8�� �� ��� � ����4 4��� D��
b ∈ R

�
�0# �# )#�� ��06� ����� �1�8 � => )#�� ��06� �' a ∈ R )�&� A4�� �� ;�%��� a D�1�8�

A$%:4�� ���� U(R) �� �8 R ��� ! ��:�0# ���� ������� � 4�� �� ;�%��� D?�0#�

D�1�8� => ?C �#� "#
R G� I ����� ������� )#G A���� �� ! "#

R $%&' ()* �2�2�+�,-.
A(ar ∈ I) ra ∈ I � a − b ∈ I �r ∈ R ): � a, b ∈ I ): ��G� �� ;�<): 4�� �� ;�%�� � R ��� !

A$%:4�� ���� I Er R 4��� �� �8 R 8 4 I �1�8 ?C �#� � I El R 4��� �� �8 R 8 4 I => ?C �#�

?C �#� "#
I ;�<): $%��� D�*)� �4� ?C �#� �8 R ��� ! G� I ����� ������� )#G �2�2�+�,-.

A$%:4�� �#��� I E R 4��� �� �8 �C � ���� R �1�8 ?C �#� "# � =>

AI 6= R ;�<): $%��� ;)1 ?C �#� �8 R ��� ! G� I ?C �#� �2�2�+�,-.
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M ��:?��� )#G G� ����� ��;4����� {Mi | i ∈ I} � ?���−R "#
M $%&' ()* �2�2� "���

��&/4�6� )#G �#�)� 78�9 �#� 8 4 A����
G� �H� ): � ik 
F� I G� �H� ): �n ≥ �): ��)� �&6# ��1� 
���� ��;4����� {Mi | i ∈ I} ( �)

Axik = � ��≤ k ≤ n �k ): ��G� �� 4�� ��%�� n
∑

k= �
xik = �G� �xik


F� Mik

AMj ∩ (
∑

i∈I−{j}

Mi) = � �j 
F� I G� �H� ): ��G� �� (	)����4 �: Mi
��H�� G� �:�&�� ������ 
�! )� �4)* �� )��&� �#��� ∑

i∈I

Mi G� �H� ): (�)

A����

2 A4�� ���8 ���� 
�)� G� 
 ����9 �IAE �%H� �� �%��,�

M ��:?��� )#G G� ����� ��;4����� {Mi | i ∈ I} � ?���−R "#
M $%&' ()* �2�2�+�,-.

�8 ∑

i∈I

Mi
����� ;���C �4�� $:�)* ;4����� �#� ��)� 
�� ��%H� 8 4 ?4�6� �#�)� G� �0# )<� A����

�I = { �, · · · , n} �' �� /�! 84 A$%:4�� �#��� ⊕

i∈I

Mi 4��� �� �8 �C � $%��� �� $%���� �����
AM �⊕

· · ·
⊕

Mn
�# n

⊕

i= �
Mi $%�#�� �� ⊕

i∈I

Mi
����

A���� R G� ��> ?C �#�
I � M G� �������� )#G X �?���−R "#

M $%&' ()* �2�2�+�,-.
78�9 �� �8 IX ������� ����� ����� X ����

IX = {
n

∑

k= �
ikxk | ik ∈ I, xk ∈ X,n ≥ �}

$%:4�� 8�)� ����� ��� X )<� � $%&' �� 5#)6�
IX = �.

A�1�
M G� �/��� )#G IX �%&��:
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;�%��� X �1�� ;�� �%/�� ?��� )#G �' �RX �I = R $%:4 8�)� 
�� 5#)6� 8 4 )<� ��2�2�,!�.
�� �1� )��)� �4�� ��

RX =











{
n

∑

k= �
rkxk | rk ∈ R,xk ∈ X,n ≥ �} X 6= ∅ �
 �

� X = ∅ �
 �
� � �1� ) ��) � �$% :4�� �#� � � Rx � � �8 �C �' �R{x} ?��� ) #G �X = {x} )<� �' �% &' ����

ARx = {rx | r ∈ R}

)%��G ): ;�<): $%#�< �� D�&%�8C� �)��� �8 M A���� ?���−R �M $%&' ()* ��2�2�+�,-.
�����)1 DM � ⊇ M� ⊇ · · ·

�
M � ⊆ M� ⊆ · · · 
F� M ��:?���) #G G� D�/�� � ) %��G� �4�69

AMi = Mn
�i ≥ n �i ): ��G� �� �' ���� 4���� n 
F� �6%�� �4�� �&6# �4�� 5����

=> ?���−R ���&� �� �R )<� $%��� �� D�1�8 �)���� => �)��� �8 R ��� ! ��2�2�+�,-.
?���−R ���&� �� �R )<� $%��� �� D�1�8 �&%�8C� => �&%�8C �8 R �%&>$: A���� �)��� �D�1�8�
$: � D=> �&%�8C� => �)��� $: )<� 4�� �� ;�%��� D�&%�8C� �)��� R A���� �&%�8C �D�1�8� =>

A���� D�1�8 �&%�8C� �1�8 �)���

?C �#� �8 M 78�9 �#� 8 4 A��� � �C G� �/C �#�
M � ��  ! "#

R $% &' ()* ��2�2�+�,-.
AM ⊂ I ⊂ R

�' �8�� �� ��� � � 4���� R G� I ?C �#� �% : � M 6= R )<� $% �� � R ?�� %�'� �
A$%:4�� �#��� Max(R) 4��� �� �8 R ��� ! ?��%�'�� ��:?C �#� ���� �������
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R ��� ! ?�0#4�8 ����0%� �8 R ��� ! ?��%�'�� ��:?C �#� ���: ��)��� ��2�2�+�,-.
A$%:4�� �#��� J(R) 4��� �� �8 �C � $%���

��&� ��� A48��� ��#���� => ?C �#� D$%��4�� A���� $%��� ��� !
D $%&' ()* ��2�2����#

��%�� 8 4 A�1�
D => ?��%�'�� ?C �#�

J(D) =
⋂

{M |
#��D �
 =�"+$� �� =��� � 2M} = �.

�
 =�"+$� �� =��� � B� ��� �� �
��+�� !�
�� �+��
 �?��� �� R �9����+, ����5 ��2�2�+�,-.

*�� �� �#��� 


*�� ���� R ���������� =�"+$� �� =��� � J(R) 2�� �� �?��� ����5 R �
 � ��


�9�� M � � !�
� � 2�+� �� !��� �� M 2�� �� � 	8 � +, �
���−R 2M �+�� �� � ��2�2�+�,-.
*��� �� M ���=�����/

*�� �� ��� ��� ���� � ���?": M � �
/ ��+, �� !�
�� �+� �� ���3 �� ��%�� �� M =��� ��2�2�+�,-.

�� ��/ � �� !�
�� �+� ���� !����+� =��� �� M *�� �� =���−R B� M �+����� ��2�2�+�,-.
*M = K ⊕ P

�� �� �� ��:�� P 4�� M / � �
�����/ 2K 4�� M / � =��� ��/
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*#� � !����+� 2!��� =��� �� ��2�2����#
�� �R ;�<): $%��� �� D�1�8� => �;4�1$%� �8 R A���� �� ! "#

R $%&' ()* ��2�2�+�,-.
A���� ;4�1$%� �D�1�8� => ?���−R ���&�

�$#8�4 ;4�1$%� �� ! 5#)6� ��)� �8 )#G ?4�6� ��: ;8��< ��2�2�,!�.
A�1� ;4�1$%� �� !

R DE
A�1� ;4�1$%� => ?����R ): DI

A4�� �� ��*�0� �: ���#8 $:�R � => ��:?����R G� ;���' �%�4 ��/��� 4 ): DJ
A�1� �%�'��)� => ?����R ): DK

A�1� �%�'��� => ?����R ): D�
AJ(R) = �

�' �1� => �&%�8C ��� !
R D�

2 A4�� ���8 ���� 
�)� G� I�I ����9 �� �%��,�

A�1� �1�8 �;4�1$%� $: � => �;4�1$%� $: �$%��� ��� ! ): ��2�2����#

L ≤M =�����/ �� ���� !�
�� �+� �� ���� �M � � �� M =���−R / �K =�����/ ��2�2�+�,-.
*�+���� )��"� K ≤e M

��"� �� �� �� �� L = � !�
�� K ∩ L = � ��
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/ �L =���� �/ � � ��� � !�
� � 2�+� �� B
�� � �+$� �� M =���−R / �K =���� �/ ��2�2�+�,-.
*�+���� )��"� K �M

��"� �� �� �� �� L = M �+� �� ��� �� 2L+K = M
��
M

#�� �����5 ��7�� �� B� ϕ : R→ S
#���� *��� �� ���5 � � S � R�+�� ��� ��2�2�+�,-.

����� � ����� ��/ 	� ��� �� ����8 � �

2ϕ(a + b) = ϕ(a) + ϕ(b) 2a, b ∈ R �� ���� ( �)
2ϕ(ab) = ϕ(a)ϕ(b) 2a, b ∈ R �� ���� (	)

*ϕ( �R) = �S (�)

�� ϕ : R→ S ��7�� �� 0+��"�
2�� �� B� �� B� ϕ !�
�� 2�+� �� �����5 ��7��B� ( �)

2�� �� ���3 ϕ !�
�� 2�+� �� �����5 ��7����� (	)
��7��B� B� ϕ : R → S !�
�� *�� �� ���3 � B� �� B� ϕ !�
�� 2�+� �� �����5 ��7��B� (�)

*�+���� ��<� R ∼= S
��"� �� �� �� � #� � #7��B� S ����5 �� R ����5 �+��
 2�� �� �����5

-��8 0� �� � *�� �� ���� �5 ��7�� �� B� ϕ : R → S
#��� � �+ � � �� � ��2�2�+�,-.

��+���� ���?� ��/ -��8 �� �� �� � �+���� ��<� kerϕ ��"� �� �� ϕ ��7�� �� ���$�

kerϕ = {a ∈ R | ϕ(a) = �S}.
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;� <) : $% #� < �% �4 ��/� � � 4 "# �8 � : �� � #8 $: � � :?��� G� ) #G ��/� � � 4 ��2�2�+�,-.
Imfi = ker fi+ �

... −→Mi− � fi−→Mi

fi+  −→Mi+ �−→ ...

$%��� �� ;���' �%�4 ��/��� 4 �8 )#G ��/��� 4�
�−→Mi− � f

−→ Mi
g

−→Mi+ �−→ �

�1� ���� ��*�0� ���#8"� f $%#�< ;�<�C ����� ���#8 $: f : M −→ N )<� ��2�2�+�,-.
Aff ′ = �M

�' �8�� �� ���� 4���� f ′ : N −→M ;�< ):

�1� ���� ��*�0� ���#8 �)� f $%#�< ;�<�C ����� ���#8 $: f : M −→ N )<� ��2�2�+�,-.
Af ′f = �N

�' �8�� �� ���� 4���� f ′ : N −→M ;�< ):

;���' �%�4 ��/��� 4 ��2�2�+�,-.
�−→Mi− � f

−→ Mi
g

−→Mi+ �−→ �

A���� ���� ��*�0� ���#8 �)� g � ���� ��*�0� ���#8"� f ;�< ): $%#�< ���� ��*�0� �8

�+� �� ���� � �� f : N −→ M ��7��B� *��� �� =���−R 2N � M �+�� �� � ��2�2�+�,-.
*Im(f) ≤e M

!�
��

B
�� � �+$� �� g : M −→ N ��7���� � *��� �� =���−R 2N � M �+�� �� � ��2�2�+�,-.
*ker(g) �M !�
�� �+� ��
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�� ����8 � � �+ � �� ��� ���  �� e ∈ R �� � C *�� �� �� �5 B� R �+ � � �� � ��2�2�+�,-.
������ ��� ��" � ��C�"�� *�� ���� �� �� �� �R

� �R
��� ��� � � !� �� "� R ��� �5 *e� = e

*�+���� ��<� Id(R)
�� �� R ����5

!� 
� � � + �� 
 � � � ? � � ������ ���  �� R �� � � 5 / � e� � e � ������ ���  ��2�2�+�,-.
*e �e� = �R = e�e �

=���� � I ��� �"+3 �� �������� �+��
 *�� �� R ����5 / � =��� � B� I�+�� �� � ��2�2�+�,-.
�� �� �� ��:�� e ∈ R ���� �� �����
 ������ ���C 2x�− x ∈ I

��
x ∈ R �� ���� !�
�� ��� ����

!�
�� ���� R/I ����5 / � �� �� ��� ���C x̄ = x+ I � 
 ���� � -� �1C �� *x − e ∈ I
�� ����

*x̄ = ē
���"$� �� ��� #��� e ∈ R ������ ���C

-�� 8 0 � � � � *� � � � R �� � � 5 / � ��� ���  � � � C B � e� + � � �� � ��2�2�+�,-.
��C �� ����� ���5 B� 4+;<� 2����� ���?� R � � �� ���� � �": �� eRe = {exe | x ∈ R}

!�� �� 2e 6= �R
� 
 � *�� ���� e �Re = e �� ���� ���"� ��C � e�Re = �R

�� �?": �� �"�

�
 �7� eRe ����5 ���� ���"� ��C �� �/ *#$+� R / � �����5 � �/ eRe ����5 �� #� � 0���

*#� �R ���� ���"� ��C

�� M / � ��7����� � N � M =���−R �� ���� !�
�� #� ��+�����3 P =���−R ��2�2�+�,-.
� �/ ���
 ��� �� ���� �� �� �� M �� P / � ��7�� �� B� �� �+��� 4� �� N �� P / � ��7�� �� �� 2N
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*�� �� �� �:�� �:

P
↙ ↓

M → N → �

4��� X → E ��7�� �� �� 2A / �X =���� �/ �� � A =��� �� ��� � !�
�� �+� �� �+��� � � �� E =���

*�� �� A→ E ��7�� �� B� �� �+���

� → X → A
↓ ↙
E

)�� 3 B� �� (P, p)
#	: *���� ��

 #��� =���−R B� M �+ � � �� � ��2�2�+�,-.

� �+$� ��7���� � B� p � �+����� 3 ��

 #��� =���−R B� P !�
�� �+� �� MR
=��� �+����� 3

*�� �� M �� P / � B
��

E )<� A���� E′ G� �/���)#G E ;�<): $%��� �� E ?����R 
%1�� �8 E′ ?����R ��2�2�+�,-.
A$%��� �� E G� ;)1 
%1�� �8 E′ ;�<�C ���� E′ �;)1 ?���)#G

;�<): �1�
N �1�1� 
%1�� M $%#�< A���� N ?����R G� �6%1�� M $%&' ()* ��2�2�+�,-.

AN ∩K 6= � $%��� ����4M G� K 
F� )�9 )%� ?���)#G ): ��G� ��

A�1�
Z G� �1�1� 
%1�� Q ��2�2����#


